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QUESTION 1 

1.1 1.1.1 If 𝑎 = 0, then 𝑇1 = 2;  𝑇2 = 4; 𝑇3 = 6;  ∴ 𝑇4 = 8  8              (2) 

 1.1.2 𝑇𝑛 = 2𝑛  𝑇𝑛 = 2𝑛   (2) 

 1.1.3 𝑇𝑛 = 2𝑛 

∴ 𝑇18 = 2(18)  

           = 36 

 

Substitution    

 Answer       (2)       

 1.1.4 𝑇𝑛 = 2𝑛 

∴ 108 = 2𝑛 

𝑛 = 54 

∴ 𝑇ℎ𝑒 54𝑡ℎ 𝑡𝑒𝑟𝑚 ℎ𝑎𝑠 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 108  

Full marks for leaving answer at 𝒏 = 𝟓𝟒 

 

 Substitution 

 𝑛 = 54 

 Conclusion 

(3) 

 1.1.5 𝑇𝑛 < 166 

2𝑛 < 166 

𝑛 < 83 

𝑛 = 82 

 

Substitution            

Simplification 

Answer        (3) 

    

1.2  Given : 40; 42; 44; …  

 1.2.1 𝑇𝑛 = 2(19 + 𝑛)       or       𝑇𝑛 = 38 + 2𝑛   or 

 𝑇𝑛 = 40 + 2(𝑛 − 1) 

Consider other alternatives 

Answer  

                       (3) 

 1.2.2 𝑇𝑛 = 38 + 2𝑛 

𝑇19 = 38 + 2(19)  

       = 76 

∴ There are 76 seats in row 19  

Full marks for leaving answer at 𝑇19 = 76 

 

 Substitution                 

76 

Conclusion  (3) 

 1.2.3 𝑇𝑛 = 38 + 2𝑛 

64 = 38 + 2𝑛 

26 = 2𝑛 

∴ 𝑛 = 13 

 

Substitution 

Simplify 

Answer        (3) 

 [21] 

 QUESTION 2 

    

2.1 2.1.1 𝑉 = 𝜋𝑟2ℎ 

= 𝜋(3)2
(11)  

= 311.02 𝑐𝑚3
 

 

(3)2       (11) 

Answer        (3) 

 2.1.2 

 

 

 

 

 

𝑆𝐴 = 𝜋𝑟2 + 2𝜋𝑟ℎ     (open) 

𝑆𝐴 = 2𝜋𝑟2 + 2𝜋𝑟ℎ  (closed) 

       = 2𝜋𝑟(𝑟 + ℎ) 

       = 2𝜋(3)(3 + 11)  

       = 263,89 𝑐𝑚2
 

 

 

 Formula 

 

substitute r  

substitute h 

Answer       (4) 
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2.1.3 Diameter = 6 
24

6
= 4   [4 cylinders can fit into the length of 24 cm] 

 
18

6
= 3 [3 cylinders can fit into the breadth of 18 cm] 

 
22

11
= 2  [2 cylinders can fit onto the height of 22 cm] 

 

So the number of cylinders that can fit into the 

rectangular box are 4 × 3 × 2 = 24 

 

 

 4 

 

 

 3 

 

 2 

 

 

 24 

 2.1.4 (a)   𝑉 = 𝜋𝑟2ℎ 

           = 𝜋(2 × 3)2
(11)  

           = 1 244,07 𝑐𝑚3
 

 

(2 × 3)2       

(11) 

Answer        (3) 

  (b)  𝐴 = 𝜋𝑟2 

          = 𝜋(3)2 

            = 9𝜋 𝑐𝑚2
 [Original cover] 

 

     𝐴 = 𝜋𝑟2 

          = 𝜋(6)2 

            = 36𝜋    

          = 4(9𝜋) 𝑐𝑚2
 [new cover] 

 ∴ Scale factor of 4  

Answer only : Full marks 

 

 

 

9𝜋 

 

 

 

 

4(9𝜋) 

 

(2) 

  (c)  𝑆𝐴 = 2𝜋𝑟ℎ 

            = 2𝜋(3)(11) 

            = 66𝜋 𝑐𝑚2
 [Original] 

 

      𝑆𝐴 = 2𝜋𝑟ℎ 

            = 2𝜋(6)(11) 

             = 2 × (66𝜋 𝑐𝑚2) [New] 

∴ Scale factor of 2  

Answer only : Full marks 

 

 

66𝜋 𝑐𝑚2 

 

 

 

2 × (66𝜋 𝑐𝑚2) 

2.2  𝑃 = 2𝑥 + 2𝑦 

50 = 2𝑥 + 2𝑦 

25 = 𝑥 + 𝑦 

∴ 𝑦 = 25 − 𝑥 

   𝐴 = 𝑥𝑦 

       = 𝑥(25 − 𝑥)  

       = 25𝑥 − 𝑥2 

 

Equation 

Simplify 

𝑦 subj of formu 

Equation 

Substitution 

(5) 
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2.3 2.3.1 𝑠2 = 52 + 82
 

      = 89 

∴ 𝑠 = √89 

       = 9.43 𝑐𝑚  

Subst into 

correct formula 

 

 Answer       (2) 

 2.3.2 𝑆𝐴 = 𝜋𝑟(𝑟 + ℎ)    (assuming that the cone is closed) 

      = 𝜋(5)(5 + 8)  

      = 204,20𝑐𝑚2
 

 

OR 

 

𝑆𝐴 = 𝜋𝑟ℎ   (Assuming that the cone is open / empty) 

      = 𝜋(5)(8) 

      = 125,66 𝑐𝑚2 

 

Substitution 

 Answer       (2) 

 2.3.3 
𝑉 =

1

3
𝜋𝑟2ℎ 

    =
1

3
𝜋(5)2(8)  

    = 209,44 𝑐𝑚3
 

 

 

Substitution 

Answer       (2) 

   [29] 

  TOTAL:50  

 

           


